Station #1
Vocabulary
1. Consider the following waves: 
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	Amplitude for wave A: 2
Wavelength for wave A: 2
	Amplitude for wave B: 1
Wavelength for wave B: 2


3. Using the following diagram, fill in the blanks with the words higher or lower.
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	Higher wavelength

Lower frequency


	Lower wavelength

Higher frequency




Station #2
Relationships between parts of a wave

1. What is the relationship between wavelength and frequency?
INVERSE! If one goes up, the other goes down and vice versa!
2. As frequency increases, wavelength will ___________________.

a. Increase

b. Decrease

c. Not change

3. As wavelength increases, amplitude will  ___________________.

a. Increase

b. Decrease

c. Not change

4. You turn up the volume on your iPod.
a) What part of the wave has changed?
Amplitude!
b) Has it increased or decreased?
Increased!
c) Draw a diagram below of how the wave has changed.
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Station #3
Calculating frequency

1. a) A basketball player bounces the ball 10 times in 30 seconds.
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The ball has a frequency of 0.33 Hz
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b) A pendulum swings back and forth 100 times in 1.5 minutes.
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The pendulum has a frequency of 1.1 Hz
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2. Three car motors are compared and their frequencies are calculated.
	Motor
	Number of cycles
	Time to complete all of the cycles

	A
	420
	60s

	B
	440
	110s

	C
	300
	2 mins


a) Calculate the frequency of each motor in Hz.
	A
	B
	C
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b) Rank the motors from lowest to highest frequency.
Motor C ( Motor B ( Motor A
Station #4
Bending light
Colours of visible light: (red, orange, yellow, green, blue, indigo, violet)
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1. Name the colours that will combine to make white light.  Note: these colours can also be combined in various ways to produce all colours in the rainbow!
Red, Blue and Green
2. Explain how a prism is able to break sunlight up into its component colours.
Different colours of light bend/refract to a different degree when going from one medium (air) to another (glass).  Because the each refract to a different degree they separate into individual colours.
3. The longer the wavelength, the LESS (more/less) it bends in a prism.
4. Which colour in the visible spectrum has the longest wavelength?  
RED!
5. Which colour in the visible spectrum has the shortest wavelength?
VIOLET!
6. Which has a higher frequency, yellow or blue light?
BLUE!
Station #5
Primacy and secondary colours of light
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1. A light beam that is composed of red and green light is hits a red shirt.
a) What colour of light is absorbed by the shirt? (red or green)
GREEN
b) What colour is reflected by the shirt? (red or green)
RED

2. Why does a blue car appear to be blue in the sunlight?

Because it REFLECTS blue light and ABSORBS all other colours of light.

3. Explain how a shirt can look green even though the light falling on it contains red, blue and green.
Red and Blue are absorbed and Green is reflected.
Station #6
Opaque, Translucent and Transparent
Consider a Translucent Object, an Opaque Object, and a Transparent Object for the next 3 Questions.

1. Which object blocks all light?




Opaque
2. Which objects allow light to pass through them?


Transparent
3. What objects blocks some light but let some light through?
Translucent
For the following questions determine if the material used should be opaque, transparent or translucent.

4. Ski goggles





Transparent
5. Metal or Wood used for building supplies

Opaque
6. A bathroom window. (Privacy is key!)

Translucent
True or False! 
7. The object must be opaque or translucent (in other words not transparent) to make a shadow. T 
8. Objects behind an opaque material cannot be seen at all. T
9. We can see very clearly through translucent objects. F
Station #7
The Human Eye
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1. Labeling the eye:

	a. Cornea
	b. Retina

	c. Pupil
	d. Optic Nerve

	e. Iris
	f. Lens


2. Match the following:

	a. Lens (V)
	i. black dot at the centre of the eye, is a hole through which light can enter the eye.

	b. Optic Nerve (VII)
	ii. controls how much light enters the eye by changing the size of the pupil.

	c. Pupil (II)
	iii. is a light-sensitive inner lining at the back of the eye.

	d. Retina (III)
	iv. a clear window at the front of the eye, covers the iris and the pupil.

	e. Cornea (IV)
	v. acts like a camera lens by focusing light onto the retina at the back of the eye.

	f. Iris (II)
	vi. white part of the eye, protects the eyeball.

	g. Sclera (VI)
	vii. carries electrical impulses which are then carried to the brain
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